Deviation [sigma] Deviation [sigma] Flux

Deviation [sigma]

20

10

-10

-20

20

10

-10

-20

20

10

-10

-20

GX354-0_0OP00816_W2_N12_200s.txt / MJID 50318.311536 / burstid= 12

; Grey line: exponential fit Peak flux: 3.376+/- 0.576 c/s/cm’ é
E Black line: power law + gauss fit Fluence : 30.24+/- 5.48 c/cm? 3
E Dashed line: power law o ) ) =
— Duration: 28.41+/- 5.01s —
= Best fit model: 1. =
=3 \ Best fluence model: 1. 3
= Best duration model: 1. 3
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; Exponential fit é
= Expon.time: 10.76+/- 1.78 s (chi*red= 0.86) =
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; Power law fit é
E Power law index: -0.566+/- 0.070 (chi*-red= 0.91) =
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— Power law fit plus Gaussian (st.dev.= 15.51+/- 2.87 s, fracgs= 1.25+/- 0.77) =
- Power law index: -0.806+/- 0.363 (chi*-red= 0.87) 3
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